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That it was in his house at that time - 7790522 7790RT XYY X757

OVERVIEW

The X3 explained that the rule of N7PDa 91277 is MTYY 7109 applies when
o7y testify that the 11775 was in the house of the 92w at the time that he
denied having it. N1901N rejects a different X07%) and interpretation.
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The text does not read ¥2nwN7 (when he swore) -
— 25109 ) MYNA TPYY YAWIT 91ND NN INT

For if there are witnesses that he swore falsely, he is m7Y% 9105 by a %%

as well, not only by a 77p5 -
:*n399Y NY2 9999197 (3,%tp 47 xnp xa2) NP N2 YHWN 199

And it also seems so in 8»p »11377 P10 that we are discussing a case without
a nyaw.

SUMMARY
If o7y testify that one swears falsely (even) concerning a loan, he too is 9109
mivo.

THINKING IT OVER

It would seem that those who are 0711 the word Y2nwR7, maintain that 99127
117792 alone is not MT¥? 7109 because of *vIANW R. How can there be “0nw X
by a N7pa?

" A 17p92 910 is MIYh Yo if oY testify that it was in his possession at the same time when he denies
having it. However (to make him M7y 9109) it is not necessary that the o7y testify that it was in his
possession when swore that he does not have it.

*If the m> swears that he did not borrow from the M7 and 27y testify that he did borrow he is also 109
m7v%. The idea of *vmnw X is relevant only to the 772V of stealing; however concerning a 712w there is no
‘excuse’; if one swears falsely he is 7Y% 9109.

3 This should be amended to 2,77 (See °"mn and 9" MM who cite the X712 of PN7PHA 9917 DWW 27 IR
1213 19y 7wyl which is on 2,7p).

* nww 21 rules that PO 2 1213 1YY WY1 N7p92 19137, From the proof that the X713 attempts to bring (for
nww 17) it is apparent that we are discussing a 117792 1912 without a 7¥12w. The reason he is liable is as 27
nww states, because he is a 1713, This proves that he becomes a 1771 even without swearing falsely and thus
m7y? 9109,

TosfosInEnglish.com



